
22.1.2016 Quadratische Gleichungen 9SN2

Aufgabe 1:
a) 1

15
· (x− 3) · (x− 5) = −2 · (−11x

15
+ 7)

b) 3− 13x2 = −13x2

c) −4 · (x+ 1) · (x− 72) = −1 · (−293x− 216,5)

d) 81
2
e2 + e · (−8,5e− 9,6) = −83

5

Aufgabe 2:
a) 2512b− 78 · (b+ 15) · (b+ 17) + (9b− 1)2 = −198891

3

b) 1 · (−67
9
v − 67) = −2

9
· (v + 17) · (v + 18)

c) −1624
9
+ x · (x+ 4) = 7x

d) −77 + z · (−z + 10) = 28z

Aufgabe 3:
a) x · (x− 17)− 52,25 = −21x

b) 9,4 + x · (5x
47

− 22
3
) = −42

3
x

c) 13
5
− 1,6x = −0,2 · (x+ 17) · (x+ 1)

d) 2x2 + 51 + 8x = 281
3
x

Aufgabe 4:
a) x · (−10x− 53

4
) + 111 = 53,25x

b) −1 · (y − 8) · (y − 10) = −1 · (−355
6
y + 3)

c) −0,04 = −x · (x
9
+ 0)− 0x

d) −22
3
x+ x · (−2x+ 32

3
) = 0,125

Aufgabe 5:
a) −10,25x+ 9,25x− 2 7

16
= − 5

39
x2

b) s · (−s− 3) + 1 · (s− 14) · (s+ 17) + ( s
16

+ 1
3
) · ( s

16
− 1

3
) = −238

c) 1 · (i− 4) · (i+ 10) = −40 + 6i

d) (3x+ 6) · (3x− 6) = 6,5x+ 30 + 8x2

Aufgabe 6:
a) ( q

3
+ 21

2
) · ( q

3
− 2,5) = −1 · (−q − 7,5)

b) 15 · (x+ 18) · (x+ 2) = (4x+ 2) · (4x− 2)− 3 · (−99,5x− 179)

c) 0,5 · (x+ 1) · (x+ 13) = −1 · (−2x+ 6,5)

d) (3x+ 2) · (3x− 2)− 8 = −11x+ 8x2

B, Ende.


